: “h MH#uhm
Ebection Comenisssoner of Indss s Jume 20127

14. Who among the following was appointed new Prime
Mimister of France in May 20127

(1) Marioe Le Pen (2) Prangodts Bayren
(3) Frangois Hollande  (4) Jean-Marc Ayrauht
(%) Jeam-1 e Médenchon

15, Who smang the following is the Husband of Queen |
Mh“hmlhﬁﬁhmdhunﬂ:'

in June 20127
(1) Prisce Philip (2) Prince Fdward
(3) Phulsp Winsson {4) Prince George
15) Prisee Andrew

16 D.K. Mebirotra ook charge as Chairman of which of
the following Orgasisateon i May 20127 '
(1) AAl [2) LI
(3) SEBI 4) TRAI
(5) Railway Boand )

17, FYKKA s & Ceninal governmol schome for e
(1) Health (2) Sports
{3) Cubsure {4) Edsscarion
{4) Emreprencurship

18. Whach of the following is the new Department creased
by the Contral Government in May 20127
(1) Tribal A ffuirs (2) Mmnarity Affairs

Wildlife Affiirs (4) Dinshaliry Affiairs

Employment A Tairs |
9. mﬁm_-h““
of the MUNREGA, unveiled by the poverment are |
correct”
L The list of works permissible under MGNREGA
hats Brewers expunsdad '
1. Works under iwial sanitabion campaign (T50C)
have been inchuded i the List of works persabic
MONRECA.

- under
T Tsewns of expenditure that are revurming @ Satuie
have been under MUGNREGA
(1)1 only (2) Lasd ¥l caly
Mﬂlﬂﬂr (4) 1 and IT] omly

We are providing piece of information FJust

for reference.

28, ~One MP - Ot Idea” scheme

ﬁg_wm-ww s

L

Lokayuktas Bill 2011° following the cons

~ Budgel session of Parliament in May 20127

m Iy both bouses

(2) Repecied by both houses

() Referred w & Selocy Commines of Farliament
(4) Passed by Lok Sabha, refected by Rajys Sabha

National Invessigation Agency (NLA )
(1) Terrorist ; () Communal
(3} Cormaptaon (4) White—collar
%) Environmental i
). Whose dmath smnivessary B observed s Ant
Termonsm Day w IndsaT
(1) Bhagat Sangh (1) Rajrv Giandiu
(3) Indira Gandhi (4) Sanpay CGaody
(%) Mahatras Gandhj

4. Which SAARC country anmounced s scheme for dul
citirensiip bn May 20127
(1) Nepal 4
(3) Pakisian

- (5) Bangladesh
5. Which of the following in Dubus was axhmwrw ledge

aa the World's tallest ressdential baaldung by Uruinases
Warld Records in May 20127

(2) Bhugan
{(4) Sri Lanka

(1) Royal Tower (2) Empire Tower
{3) Regency Tower (4} Kimgdom Tower
{5) Princess Tower ;
26 The govornment on May 30, 2012 allowed qualit

Investors. ((QF1s) from sx member-coundne o
Cooperation Cosmcll ((GOC) - Saudi Ay
ﬂ_hmm&-ﬂ_hmnl
Indise copamal markey
(1) Irnq
(3} Yemen
(5) Kurwadh .
17, Which of the following is respossible for mo
-ﬂ-ﬂdﬂldw“:?ﬁlrﬂfﬁ“_
aceotding v atbors Clkdice
Fund (UN m::dhl-emll?
{ 1) Prcumania 2) Diarrhes
(1) Chalern 14} Madaria

(2) Iran
{4) Jordan

It may wvary from Official



i May 20127
(Lo (2) WHO
(3) WIO (4) WEF
(5) UNHCR

ﬂmw-ﬁllﬂmghhlﬁh'-h

May 20|27
(1) 36t (2) 46eh
(3) S6th (4) 66tk

5) Teh

(1) Combat Instructions Armoed Trasung
~ {2) Counter Insarpency Armed Trasming
- (5 Ce lmm-dkﬂ'l‘mq

and Impost
whisc Rovenwe and Expenditure

control

dget 2011-12, for tax purposes person

(1) RAY

28 Which of the folkmang organisanions, headquaricrad in
Geneva, has sclectod India as the Jocation of its fourth |
office in the Workd afber Cluna, Japan sed United States,

MWHhWﬂHMhl

The Government approved the Establishanent of 21 |
CIAT schools in May 2012, CIAT Schools stands for. |

is concerned with whach of the following? | |

I!JHM .

Y {ﬂﬂmd‘ﬁ : |

Hhhﬂnﬁ“ﬂ*m
normally are w-mmhl}l

means T

TEST-1I

Directions (41-55) : Read the following passage
! carcfully ond smswer the guestions given bedow il
Certain words/expressions are given in bold in the |
pamage w help you locate them while anvwering |
e af tha guarstioms

ding piece

=]

We are provi

GENERA

information just for refer

(1) Results of Jasuary - March

(4) The period when the penfies were highes
(5) None of these
35 Which of the following corminly is an effor in the
direction of Financial Inchesion 7
(1) internet Banking

(2) Anywhere Banking
(3) No-frills Accousts

(‘!F-'Irﬁh_qu.u— 2

(33 All of these

36. Whach of the following Aces is speeially lsunched w0
facilitate hanks in recovery of had loans ?
(1) RBI At (2) Danking Regulaton Act
(Y) Compasies Act (4) Income Tax Act
(%) SARFAESI Act

37. The financial assistance or loans of T10,000¢ by a
bank 1o very o umall borrower will be cilled —
i1} Busmmess finance (2) Gern. Mimance

(3) Micrv limance (d) Small finunce
(5) KYC fimance
JE The Head (Wice of the Unique Identification
Awthority of India is located in —
(1) Bangalore (2) Mumbai
(3) New Dl {4) Chennal
(%) Hyderabad

n.w-upumumm--.
Busimess Correspondent, a8 given o the scheme *
launched by the banks ?

(1) Kirana Store (2) Post Office
(3) Self Help Growp 14) Bank Olfer
{5} Covperative Snciery

#0. Who smongst the lollowing cansot Open-an Account

in any bank in India 7

(1) One who 1 not earning regularly
A Housewile

13} A student of 10th Stamderd

T4} A farmer who cwes a small piece of lasd

151 An indrvidual who w rﬂ-ﬁﬁ“md’
income & ol know

L ENGLISH

An ol couple had worked very hard and saved every
passa they possibly could to go 00 a pilgrimage.
iﬂyﬁﬂwmbﬂmm‘m

they passed through a small village and
ﬂlhlﬂtmmdummmh

amer told the couple 10 leave thewr beloagings with

" ¥ T L L L
ITicial 0O


http://www.recruitment.guru/

Mism anel fresiven up for disner. They b been warned
that there would e many thecves on the way and were |

. Quite carcful with their money pouch. So they refused

=

ook turns 1o sit holdmg the bag contanmyg ther
while they had dimner.
o hpﬂhlﬁﬁrdﬁnﬂumlulf

Karnlesh “Whare is oer money ™ they demanded Hest I
Kamlosh coolly replied. ‘| dom know anything shout
m lq. This 5 an hooest person’s lodge. Please I

mmh.mummm|
out clutching their belosgings. As they walked
“ﬁvil-.lhqﬂ#hm Tasee
the ald couple get justice, the villagers wold them o go
0 Krishnakant, the king's counselor who was famoss |
for his vense of faimess. Krishmakant heard their wory
and said, *1 bave a drum in my house. If you tell the |
truth in fromi of the drum, it starts beating by isell
Coene to oty bouse tomonow morauyg and carry the
drum to the court. On your way, tell the drum your |
sory. | will send word 10 Kamlesh w0 carry the drum
back in the afternooa. | will be ready with the verdict |
hhuh;mmuiq.knﬂwwl
semed walling with the magic drum 1o the coort It

become meach lighter. "God beasd us amd
bas made our :
afternoon, and his wife carried the

are prowvi

ding piece aof information Hdust for refer

was kep(T Do you really belseve this is 8 magical
drom? | am sore 0o ooe kmows the truth, Now
Krisheakant himself pamped out of the dram. | am the
witmess. | huve heard every word you sand, and also
what the old couple ssid. Yoa will retum e siclen
moncy and also pay thive times & peaally.” The old
couple was delighted when they beard the verdict.
They went an to complete their pllgrimage blessing
Krishmakart snd his magic dnem !

41. What was the villagers reaction when they heard
ahaut the old couple’s misfortune?
{ll!bqpoﬂuwhﬂ-uﬁaymum

the pigrimage

mmmuwuwmumh
advice,

(4) They devised & plan o get the moncy back from
Kamlesh themaelves

(5) They did not care about the couples problem.

41. Why did the old couple refuse Kamlesh's offer

keep thelr money?

(1) They had been wamed shous his had reputation

{2) They did not wus anyone and wanted 10 kerp their
muusy wle.

13) The dod et want 1o pay bam o keep it sale.

(4) They had no pdiow and neoded the monsy powch
0 rest.

(%) They realised that some guests were tuoves.

43. Why did the old couple bless the paanistcr”

{Illh-ﬁhmwmm
for the rest of the pilgrimage.

ﬂbl‘h-ﬁhiﬂq—.nﬂhuﬂmﬂ
the moacy them.

(D He wusted their word without asking for

 wilnesses.

{4) He had recovered thewr lost savings and they could
‘omplete the plgrmage.

(3) He gave hem a lighter drum than Kamlesh and b
wife 1o carry.

4. Why did the old couple pasic when they swolie?

(1) All their pillows and belongings kad hoen stolen.

(2) They had forgouen where they bud hidden the hap

(1) They had overslept and could met complete their
pilgrmage that day.

{4) The mnkeeper had presented thern with a huge bl
(3) None of these

| 45, Which of the following is NOT iin the context of the

passage? |
(A) The old couple were misers though they were
very rich,



mmum#-ﬂmmuw i

mmmm-p-n--nm

(1) Only (A) £(C)  (2) Only (B) & (C) .

(3) Oudy () (4) AlL(A), (B) & (C) i

(3) Nome of these |
6. What ¢id Kamlesh's wife do with the old cosple’s |

money
(1) She hid it't the innkeeper.
(2)She carmied it with her on their way o the
A rmaiber's houss.
. (3) She plansed 0 go on a pilgnmage with ber
[TV TS

(4) She wamed o retire and 8ol fun the inakecper

anymaore.
{5) Not chearly mentioned in the passage.
. I'l was Kamlesh confldent about not being found
ﬂﬂ“hﬂmm
| (1) He was planning 10 bribe the minisser.
(2) The menister had wold him that he doubeed the obd
couple’s alory
(1) He comsidervd the meénisser & fool
: Hltﬁ““”ﬁpﬁhm

{!]Thqmﬂ#'ﬁd_lhﬂthmhh
kmew of theit moocence.

Directions (51-8Y) 1 Which of the following is mes

similar in meaming to the wird grven i bl s uses

Iﬂ-"ﬂlwwhh” f

| couple Bappy carrying the drum on |

hmuhu-n

(1) They considered it part of theis plgrimage.

(2) The emnisicr had sccompasied thern and helped |
them carry i

'(3) They were relseved that the minister had declared
e wmnosent.

mmmmumm—h;
manssber's howse was not much.

i Dhe prresage”
73 mistng (2) left (3) dead
(n
(4) completed (5) rained
52. STRANGE ‘
(1) foreign (2) mysenous
(1) extraondusay {4) crazy
(%) unknowing
£31, SPFEND
(1) buay (2) pass (3) waste
{4) comsume (%) pay

Directions (84-55) : Fhich of the fodlowing o mes
opprite in meuming 10 the wow hd grven in beld us use.

(2) worrymgly
(4) hasuly

(2) unholy
(4) nsuited

t Read each semtence b find ont
wather chere it amy miaskedermie in
E‘ wewew if amy, will be fm ome purt of the semdemee.

the number of that part with erroe a5 your

Bt amrer ft there is wo ervoe. mark (9)

# large number of (1) pouple are opting
ﬂ_ﬂlﬁ;vi;ﬁhm:
hﬂmwmhm+-- ‘

- 7. The MNREGA is a scheme (1Y under which the

govermment (2 offers employment 1o (1) wham
biving In rural areas (4) MNo Errore, (%)

| SR The income Tax Act was implementing (1) searly

fifty years ago but (2)/ there bave been many (3)
changes made i it ovler the years (4) No Eror. (5)

9. A mrvings hank scoount can (1) be cpeen in e rasme (2 of

o manor who m (3 over lon years of age (4). No Ereor (5)

: ilnyzﬂmmhlﬁmnf[lyhdil'l

populasion will Be Bved (1) in urban arces as
compared (1) 1 28 porcont st presont (4) Noomor. (5)
Directions (61-68) : .Ja cach guestion befow a

sentence witk four words printed in bald type b given
These are mumbered as (1), (2), (3) af
. theme four boldly prinsed words may

et ar inapproprizse (s them SR



word which ir wrongly spelt o

senpence, mark (3) Le.. Al Correct' av your anner
&1, Albough (|} he has o biuss i Haly he continmousty
(2V % retaln (3) his howse here (4)/ in Udsipur. All
62 The Board has rakied (1) several (2) busmes (3)/ sfter
going throwgh (4) the audstor's repor. All carrect (§)
€1, These honest ¢ivill (1) servants should be trested (2)
with the digmiey (3} they deservimg (4) All cormect. (1)
. The rise in frand (1) cases has promoted (2) banks
o spend more on Impreving (3)/ security (4). Al
carrect. (5)
€5, Provident fund is wsually (1), dedocted (2) directly
{3V froen your salary by the employer and deposiied in
& retirement (4) account. All correct. (5)
Droctiomn (- M) : Wik of the pheses (1), (20, (3) owd
141 wrvem helorn: shonadd repliace the plarane grivvs i buslal =
ﬁﬁlﬁ"lﬂlﬂubﬂﬁh—-—#ﬂ
and grameeeically comect* If the senfoncr is correcs as it
i amd o correction i roguiired. mark (Y) as the amrwer.
66 Ranks will have lond sddithenal Rs. 100 crores 1o
maoet e year's credin mrgets.
(1) additronal lendsng
() ket sddstionsl of

their cail meework India is very far behind.
(1) much hehend (2) a8 fas as bebind
(3) 100 further behind  (4) behind further
(5) No cormection required :
companies whose losses are falling from R 15 w0
R, 20 croees, -

1% Fallen buslose

|
nmmmuﬁm“w[
|

ks fallan aloemm

We are providing piece of information FJust

for reference. It may wary fr

Wwww racruifment . auru
|

{3} fall between - (4) will he falling 16

13) No comection neguired .
Directions (T1-89) : In the followimg patiage there
are blamls, edch of which is mumbered These

There was once 8 king who bl three sons. Desiring 10
determine which of (7]) was the fittest for the (3] of
ruling the kingdom, he (73} upos a strange sdea. He
(T4} _his sons w accompany hien the forest,
Pausing st & (16) he pobmted out & vulture (77) high on
atree. T (T8) you o shoot it but (79) me first what you
see™ The first (I9) the grass and sky, the second the
horwes and field nearty, then the king tarmed 10 his
ymumgest son. ‘| sec only the cye of the vullure” he said
and ok wirm Pleased, the king commaesded him o

stap and appointed khim beir w0 the throne
T (V) ey (2) ome
(1) them (4) whom
R
{ {2} probilem
(3} decinaom capacity
(%) risk ®
™ :;lhwnl (2) fult
]
R m:l* 14} simmble
(1) force
" fﬂ . {4) order
ot (2) until
(%) where
phidny (4) during
7. (1) mpot (2) seene
{3)area (4) diswsst
7. (e
o : () newed
(1) flocking
5) (4) sitting
TR (1) hope (41
(3) waen {4) dared
{3} demmand
7. (1) mk (2) absrw
(3) tell (4) let
{3) explain
B8 (1) drawing (2) reponed
(3) explained (4) described
(5) poiea
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Directions (81-95) : What should come in place of the | mer - {1],51_51
questions martk (?) in the following questions? zl !

81, 11x468+26="7+13 (43 @

(1175 (2) 185 (5) None of these
{;]:r:-dm yioris Ll 92 21— (5) x9+15=1

ﬂ_fﬁl'“mm_ﬂd APaey (1) 148 () 133

) 58 i@V | BNemeormese W'Y
- (5) None of these 93. 2234+ 84 - 1273= 74123

B J2x3+14xa+179=2 (1)922 (2)932
s o gl
Eisﬁt}‘ ot (4)325 94. 45% of 160 + 14% of 250 =7 — 23

ane o (1) 120 {2) 138
B (245 14 + 324 4T= T (3) 130 {4{;'40_
(1)55 - (2)45 {Jﬁ}wc;enrm !
%ﬂ,_ i 435 95. SofofsBS=7

85, 2554174 5w (1) :;;;5 . (2) 25
ne @3 (43125
(3)3 )27 uﬁ}h&nﬂﬂﬂhﬂe _ _

- (5)81 - A man crosscs & stationary train in § minutes. The
b5 £ same train croses a pole in 48 seconds. What is the
V1156 + /289 =748 mtio between the speed of the man and the speed of

~ {5) None of these =4 %};’:H {4) Cangot be determined

-1 :sm‘ lzxnnsa-lzz.s“ : A o7, mmkmh Al v

(2) . What is the value of thrice that largest even number?
(4) 36 p: oM ) 128
one of these (3) 136 (4) 134

88, 878 - T878 - 6666- T77-33=2 (5) None of these ;

(1) 73354 (2) 75224 98. Train fare between Nagpur and Nasik for one adult is
(3) 72534 (4) 72524 three times ther train fare for one child. If adult's train
{5) Note of these ! fare is ¥ 102/- how much amount will be paid by 3

8. (1+J5F =7+ J20 ; Mq}d4mwmmﬁﬁnfmmlimlh=m
Me+45 = )45 (1) T 432/- (2) € 532+
36 @ (3) T 612- (4) T 442-
(5)None of these ' ; (5) None of these ; |

90, (3)** x (9)*? +27=(3) 99. Three men can complete a picce of work i 18 days. 6
’ | boys can also complete the same piece of work in 18
(n37 ()46 dayy. In how many days will 4 men and 4 boys wgether
(159 )49 / j y lete the same piece of work? .
(5) None of thése | ; (1) 10 days (2) 6 days

Py _ «3) 12 days (4) 9 days
9. 4:""3-.""3'? T Iy Mna ol thess



= Are prow

). Six-seventh of a number is equal to the sum of (3)°
(15)* together, What is the number?

(1273 (2) 263 ’
324 {4) 242
(5) None of these

|
101. What will be the simple interest accured on lmor|
¥ 5224/ atarate of S p.cpa in S years?

(1T 1,360/- (2)T 653/ i
(3T 63 (4) T 1.206/- .
(5) None of these '

m. mmmﬂﬁiwu?sm What will be |
the average speed of the car if the driver decreases the
average speed of the car by 40 percent?
(1) 50 kms'hr (2) 45 kmr/hr
(3) 40 kms'hr (4) 55 kma'hr
(5) None of these
Directions (103-107) : What will come in place of the |
question mark (7) in the following numbers series? |
103. 4, 29, 129, 15#.?54 (M

(1) 1376 ! (2) 1368 f
(3)1379 (4) 1739 ;
(5) None of these
104, 13,19, 31,49, 73,(7) |
(197 (2) 103 '
(3) 109 (4) 91 :
(5) None of these i
105. 456, 392, 360, 344, 336, () '
(1) 332 (2) 328 |
(3) 340 (4)324 e
{5) None of these J '
106. 121, 144, 289, 124, 529, 576, (7)
(1) 961 (2) 841
(3) 900 (4) 729
(5) None of these
107, 5, 21, 69, 213, 645, (M)
(1) 1670 (2) 1941
(3) 720 (4) 1320
(5) None of these

108. In an examination Sunil secured 480 marks out of |
1200 marks and failed by 96 marks. What II the
minimum passing percentage?

(1) 46 (2) 45 (3) 42

{4) 38 (5) None of these

The difference between the length and the breadth of a |
rectangle is 7 cms and the perimeter of the rectangle is
50 cms. What is the area of the rectangle?

109,

(1) 144 5q. ems (2) 154 sq. gms
(3) 288 sq. cms (4) 216 sq. cms
(5) None of these

110 Thcrﬁmnflmd:mlmbmﬂ:mhufﬂ:wﬂdcof: :
:qtmtnhmuuuliﬁ?.q cms. Wuﬂﬂﬂhot‘i

iding piece of

information just for reference

{1) 132 8q. cms, {2) 154 5g. cms
(3) 144 Sq. crns (4) 165 Sq. cms
©  (5) None of these .
| 111. Raju sold an § for T 6,000/- at a lost of 25%. Al
! what cost he have purchased that item?
(1) ¥ 7,500/ (2) T 7,200/
(3) T 8,000/- (4) T 8_500/-
(5) None of these

| 113, What is the smallest number which when divided by

8, 12 and 14 gives the remainder 67

(13174 (2) 168
(3) 162 (4) 154
(5) None of these

113. The ratio between the present ages of a man and hi

wifeisd: 3 ively. Also, the man is 8 years olde
than his wife. i present age of their daughte
who is one-gight the present age of her mother?

(1) 6 years (2) 3 years

(3) 12 years (4) 9 years

(5) None of these

114, Luyeummmmummmu'mem
The number increased by 15 percent this year. Hov
many tigers remain this year in the . wild Lif

(1) 728 (2) 816
(3) 828 (4) 821
(5) None of these

115, lf!l,ﬁﬂl!—mm among 37 people
tlﬂ-mhﬂmﬂwmhmmdnﬂpﬂm

get?

{1} T 136/ (23T 144/
(3)T 128/ (4) T 124/
(5) Mone of these

Directions (116-120) : Study the graph and answe
the questions that follow:
Number of Candidate (In Thousands) Qualificd
In The Written Test For Admiission to
two Different Institutions

[minstitution & m institutions |

o 58883

T s Eream TR A erf el oo
« 4LAC mMAay vary IIrom uriricial



'!'I"H"‘I'l".J"i’t"]"HIfH'J'L‘i!I.HIH'H

eandidares qualifisd in the wrtten the in the year 2007
for admission in instioetion B and the wumber of
warndnbates qualsliod s tse wrillem test in the year 1004

for admassn to instinetes A7
(1) &3 2)7:4
03)7:% #)7:5
5)E7

. Whal was the spproximste sverage nasmber of
candwdster qualified m the wrmen war for sdmaion

o ssttution B over all the years?
(1) 4353 {2) 4,200
(3 4.160 (4) 4,288

(5) 4,667

I which year wes the weal momber of candsdates
qualified in the wrisen test for admission &0 both the

lEST DN K

three stawements followed by wo  comchusipnr
mumbered [ and Il You hove do sake the threw given
atemente 0 e e vem of they seem to be af varisce
from commonly known fiactr and than decide which of

divreyarding commonly baiwe facts
e grwer (1) if only conchavion 1 follows.
be anvwer (1) if only conclusion 11 follows.
mmwwer (1) if elther conclusions | or conclusion
11 follows

wion 11 fodlows
- et {5) 1f both conchasion | and conclusion
. Il folbow,
Bumtements : All paints are colours.
- Mo collour is 8 vemish.
Concluslons : | No varmidh w paint.
© 11 AD jndes sre colours.
111. Statesnesis : Scene kites are planes.
All planes sre burds.
All bards are wobours.
Conclusions ; |. All buds are kales.
11. All planes are colours.
128, Stmtememts ¢ All actors are producerns.
Some produvers are direston.
Some smgens &re producerns.
Conclushons : |. Somm aclons are singen.
11, Some singers sre directons.

116, What was the respective ratio between the nunsber of |

Wasd b s N,

m:m—m:nm&mmni 124, Statements : All movies are dramas.

of (4 of medlher conchuion’ 1 mor oond - 4

(1) 2003 (2) 2004
() 2005 (4) 2006
(%) 2007

117, Whal i the difference herween the wml number of
candidstes qualified m writlen test in year 2006 for
admisson o wettution A and B wogether and the
sumber of candidates qualifiad in writien tost in your

2007 for admission oo instinsion A
(1) 5000 {2) 3500
(3) 1500 {4) $500
(%) Mone of these

128, What was the toeal number of candidates qualified
the wrinen test for admission 10 mstitution A over all
the years 1ogether?

(1) 27,000
(3) 26,000

(2) 26,300
(4) 27,500

ABILITY

All plarys are dramas,

Directions (126-130) : Following guestbons are
753 aE1 AT 3 MW

126. 1f all the digins in each of the numbers are arranged in

descending order within the number, which af the

follomding will form the krveest in the mew aTangement

af
(M {2) 481 (647
(4) 294 (934

127, If all e numbers sy eranged @ ascendmy onder
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(i) If the first element is a symbol and the last an eves
number. the codes for both these are to b
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yi=J WK=J 147. 80298 24
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148, S*840@
(1) UCRPHT (2) U=RPHT
(3) T=RPHU (4) U=RHPT
(5) UCRPCT :
| 149, @958%6
i (1) DBUFRT (2) TBURFD
(3) DBURFD (4) DBFURT
{5) DBURFT _
~ Conditions : 150, H497PS
() If both the third and the fourth elements are odd | (1) HPBBWU [IJEB
pumbers, both these are to be coded as the code for (3) HFBBUW
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TEST-V : MARKETING APTITUDE / COMPUTER KNOWLEDGH

161. Demonstration is an exercise 10 ..,...... (2) develop an appropriate product / service to aftain
(1} attractively pack and display the goods mnﬁﬁ:ﬁm‘ :
{2) prove the characteristic of the product mm wmmmll goals  through
(3) Both (1) and (2) integrated marketing approach
{4) Only (1) (4) All of the above
(5) Only (2) - (5) None of these :
162. Which among the following is not an example of | 164. In Banking services, market can be segmented on the
Direct marketing 7 basis of .........
(1) tele-marketing : (1) density
(2) sales omvinternet | ﬂ?mﬂ S
(3) mail order sales (3) Both (1) and (2)
' (4) Retail stores {4) Only (1)
e 16, WA, G R 43 Pk
ing * ion” i i f the ng i3 oot 8 .
. E]mwm'h'mt;‘.:lih:‘ lﬂll ) Tuqune of advertisement 2 '“ -
{1} identify consumer needs (1) Sales test
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(3) Focws growp
(3) Encpairy test
(4) Attitudie sest
(5) None of these

186, “Casual’ rescarch is basically concemed with ...
(1) establishing conse and cffect relmionship
(2} arriving ot & forecas: or prediction of inieres
() mecasuring and estimating the hpnll- with

which of things ocewr .

{43 All of the above.
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174, In the relationship marketing firms focus oa
relstiveships with

H]M“m.ﬂmﬁm
{2) Loag term; customers and supplicrs
1 () Shoet term; cussomers
| (4} Long wrm; customers
} (5) Mone of the sbwrve
178 mw“—ﬂ,“m\
[l]f.‘-ndn-.
(2) Organiration marketing
ﬂ}h—blh.‘
(4) Person marketing
(%) None of the above
liummwh-ﬁdw“-
lnhan Promicr Lasgee. The fnn = cogaging =

(1) Place marketing
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(%) Name of the above

18, _#ﬂuﬂr ways, and this
eramipulation i called ...

1) upgrasing mﬂﬂﬁl
(3) batching (4) wilizing
{51 downloading .

IEL Crestinga......... micgns making a duplicaie copy of
mhwhhlﬂ-mmm
restore those files using the copy.

(1) eniproe (2) howt file

. LX) print ot (4) Bortspent

i (5) backup

: Iﬂﬁﬂlmhﬂdd-whm

m—y-dmu (2) motherboard

(1) processor {4) microchip
(%) drive board
184, Periphoral devices sach as printers lﬂl-mhn are
| ponsidered lobe ... E
(1) hardware (2) software
(1) data (4) informaion
{5) source code
| 188, hlmnﬂpﬂ-;mphh
f (1) Memory
|' (MCru {d) Mntherbasnd
I - 06 Tty poe o sempuiras i
i 1) Hardware 12} Softear:
13) Modem {4) Memary
{5) Cable
187, Collection of programs that control the compner
i ny_-lmuthlg-i- is called :
{ {1} Intexpecter Compuier
K (1) Office (4) Compaler
I {5) Operating System
[ | S . b sm usit of messurement thal s egual b
lﬂ.ﬂihﬁumﬂhﬂm
I (1) byee (2) glgabyre
| g;—"'! (4) meyabyte
[ am9. Hand disk drive is an example of ,........ -
' (1) Mash (2) mon-wolatike
(3) remparary (4) non permanent
. (5) None of these
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(1) RAM - (2PROM

- 1'.
ByCRU wrep
(5) ALU
lﬂ.'llfl——iinumhm“
| compuion o creale a ...
l (1) Server I.Z}m
i}) Enterpeise | | {4) Nerwark
(5) None of these
| 1%L A round, shimy and portable disk that can sore
; saltware and mlormation i lEge quastiry b
| (1 CO-ROM (2) Floppy disk
| 1Y) Scanner 4) Momitos
15) Lagiop
193, An efror in & compaer progrem is called ..........
(1) crash (2) power failure
{3) bug {4) virus
(5) bugger
| 194, Bt is @ short form of :
(1) megabye .
(2 bumary banguage
| ' (3) bemary information unit
(4) banary musmsher
| (5) binary digit
| 195, Tape drive offer ... sccess lo data.
(1) tienely F}qunh:
(3} random d) sequential - -
(§) disantrous
196.. &wnﬂ.uh#&lﬂhﬂﬂ
{14
(84 [‘ﬂﬂﬁ
l msu
9. A .. l-h-_nuumtﬁh-
.ﬂn
(1} dastribuned mﬂ
(}) open wource (4) witghess
15) without cable
lﬂ. A—ihﬂuu-“h_hﬂd
(1) fename (2) peogram
. (5) file lype
| tmmhmmmn“um
segerenns called ...
(1) sectoes ﬂ]lh.n
(3) tracks 14) rounders
{ (%) circles
100. All composents of your comproies are esther ... h
(1) softwase of CPURAM
+ (2) applcation softwars of system software
1 (3) mput device or output device
| {4) hardware of soffware
{3) None of these

It may wary from Official



ent.guru

RGO ® LON # Susono ap o g 6 | ‘
. () ¥ () Guo (5) -
Qiy@IvVInY ) ¥ (v)fmo (©)
() 4o (2) (w) Amo (1)

1 ]
1 [
o0 (v HPAL> 3 )0 suwndoy g 91 BuLMDGIOY P JO A, a

. #-0.(6) Runy pop wpmy (5) < -
| o srmoecog pog, () SPn | (PRGN (#) syuny (g) =
voesTusili) spuiy pao, (1) g £2004 (12D () e [ (1) o

L2102 Koy o puangy sy Loy b

dam?) m aseyd yooy slemasen SmwoRo) 54 J0 §9mM L | 5 Wpu Jo Und ¢ LON 9 Fupmopos 9@ JO yoM T
1]
SSANTAVAVY IVHIANAID (1= 1S4




	Clerical-Model-Unsolved-Paper-9_002.pdf
	Clerical-Model-Unsolved-Paper-9_003.pdf
	Clerical-Model-Unsolved-Paper-9_004.pdf
	Clerical-Model-Unsolved-Paper-9_005.pdf
	Clerical-Model-Unsolved-Paper-9_006.pdf
	Clerical-Model-Unsolved-Paper-9_007.pdf
	Clerical-Model-Unsolved-Paper-9_008.pdf
	Clerical-Model-Unsolved-Paper-9_009.pdf
	Clerical-Model-Unsolved-Paper-9_010.pdf
	Clerical-Model-Unsolved-Paper-9_011.pdf
	Clerical-Model-Unsolved-Paper-9_012.pdf
	Clerical-Model-Unsolved-Paper-9_013.pdf
	Clerical-Model-Unsolved-Paper-9_014.pdf
	Clerical-Model-Unsolved-Paper-9_001.pdf

